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Run 5156 quartetwise, Diffs0: All Run 5156 quartetwise, Diffs0: Beam OFF

guartetwise diff0 quartetwise_Dbeami_difo
9000 — Entries 95787 — Entries 33464
— Mean 0.01524 1600 — Mean 0.0005261
8000 — Std Dev 01864 — Std Dy 01743
2000 = 1400 —
5000 - 1200 —
500 :_ | 1000 :—
4000 F- 800 [—
3000 600 —
2000 — 400 —
1000 — 200 :_
l|::|:II| IIIII III|IIII |II| D_Illllllllllllllll ||||I|IIII|III .—.LJ.IlIIII
~1 -0.5 0 0.5 1 4 03 -0.2 —0.1 0 0.1 0.2 0.3 0.4 0.5
PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso
Run 5156 quartetwise, Diffs0: Beam ON, Laser ON - Run 5156 quartetwise, Diffs0: Beam ON, Laser OFF
quanebwise_beaml_las? ot — quanebwise_beami_last diif
— _ | Entries 475 — Entries 0
18 Jf Mean  -0.008155 - Mean 0
— Std Dev 0.1768 — Std Dev 0
16— =
14— - =
12— | =
10— =
= : -
s [ E
= : -
2= =
'D:' |ﬂ|_|’J|-L| I N N |H [ |”|H R N B |_|J-||_‘| | :_
-0.3 -0.2 0.1 0 0.1 0.2 0.3 —
PosHelAccO/PosHelNSamples( - NegHelAccO/NegHelNSampleso —
AN T T N N T T N T N T T T T T T T N N T T T Y T Y T O




4500

4000

3500

3000

2500

2000

1500

1000

500

18

16

14

12

10

Run 5156 quartetwise, NegHelAccO/NSamplesQ: All
quartetwize_negHQ
— Entries 5787
[ Mean 3676
— Std Dev  (.8004
1 | 1 1 1 1 | 1 11 | 1 1 11 I 1 11 1 | 1 1 11 | 1 1 11 | 11 1 1 | | J. 1111 | |
2 2.5 3 3.5 4 4.5 5 5.5 B 6.5
MNegHelAccD/NegHelNSampleso
Run 5156 quartetwise, NegHelAccO/NSamples0: Baam ON, Laser ON
guamstwisa baami las® nagHD
— _ Entries 475
— Mean 3.608
— Std Dev  0.1075
N N l [ I T I I l—l |H| l
3.3 3.6 3.7 3.8 3.9

MNegHelAccl/NegHelNSamplesd

1400

1200

1000

800

600

400

200

Run 5156 quartetwise, NegHelAccO/NSamples(: Beam OFF

guarebwise_bsamd negkll
[ Entries 33464
— Mean 3.247
B Std Dev 01681
_I 1 | 1 | 1 I 1 | 1 1 1 | 1 1 o | | 1 1 1
2.6 2.8 3 3.2 3.4 3.6 3.8 4

MNegHelAccO/NegHelNSamplesO

Run 5156 quartetwise, NegHselAcclVNSamples: Beam ON, Laser OFF

ﬂ.im.“““ﬂ kaami lasl HIIEH[I
Entries 0
Mean 0
Std Dev 0




4500

4000

3500

3000

2500

2000

1500

1000

500

16

14

12

10

Run 5156 quartetwise, PosHelAccO/NSamplesC: All
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Run 5156 quartetwise, Sums0: All Run 5156 quartetwise, Sums0: Beam OFF
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